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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. “Promotion of healthy Labour Management Relations, industrial peace and industrial

democracy are the three pillars of success for the modern Industrial Relations
System”. Explain the statement with proper illustrations. (15)

OR

“Conflict and cooperation are two states in the continuum of Industrial
Relations.” Explain the statement in the context of industrial relations system in
India. : : (15)
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2. “Industrial Dispute is not always harmful to the partners of Industrial Relations.
In fact they are the sources of growth and development of Industrial Relations.”
Explain the statement in the context of positive and negative effects of Industrial
Dispute. (15)

OR

“Describe the efficacy of the preventive methods of solving problems of Industrial
disputes.” Can they be replaced by the methods provided under adjudication ?
Explain. 3 (15)

“aﬁaﬁﬁmﬁawzﬁmmﬁmﬁﬁ%aﬁaﬁ'%sﬁzﬂﬁm@mﬁg%@ﬁmm
@ A € 1 Sifie e @ TEReTE 9 TERISTE TN D ged X 38 T 9 Ra
T | :

A=Al

“aﬁ%ﬁﬁmﬁaﬁ%ﬁaﬂwﬁwﬁﬁaﬁnﬂwﬁnmaﬁ#fﬁm”lmﬁwﬁﬁ
w A @ Yefadl @ g afeniia R s awar © 7 wEEy |

3. “When preventive measures of Industrial disputes stops, the process of settlement
starts”, Do you agree with the statement ? Explain with reasons. (15)
OR

“Works comm_'it.tee is both a preventive and settlement machinery”. Do you agree

with_the-statément-j? Explain with reasons. (15)
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4. “The industrial society frames the Industrial Relations System on the basis of its
own requirements”. Who do you think constitute the industrial society and how

their requirements are fulfilled ? _ (15)
OR

“Industrial relation and human resource management are related to each other
from A to Z”. Explain the statement. (15)
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5. Write short note on any three of the following : (5 marks each)
(a) Migratory character

(b) Fare wage

(¢c) Co-sharing in management
(d) Mutual interest

(e) Labour court
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